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O &2’ CCTV & X 188,650
< 38,000
[ia 150,650
03 Al 2 THHI 1,350 0 1,350
O AlZ 2 HbI 1,350
OrS &Y CCTV & X ALY 370,776 302,160 68,616
201 ¢er24] 38,400 0 38,400
02 =224l 38,400 0 38,400
O D228 CCTV AIZ &8l |l
1,700,000& »12& 20,400
O ot=2dY CCTV aldg & 18,000
401 Al HIZ 201 8] 332,376 302, 160 30,216
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03 Al 2 THHI 2,376 2,160 216
O AlZ=20HbI 330,000,000& *0.72% 2,376
el E M Sgael 9,875 2,000 7,875
SSHQ AFZFM 2 9,875 2,000 7,875
201 ¢4l 6,600 0 6,600
01 At 2t 2l 6,600 0 6,600
O3 822 M S 5,000
O olp®E™ 27 =2 hAlyl
8,000& = 2% * 100 1,600
202 044l 3,275 2,000 1,275
01 S LHOYI 3,275 2,000 1,275
O 3™ =& o 3,275
K OITH AL 4,084,454 3,667,196 417,258
< 1,013,011
i 3,071,443
NEHEXA 2,398,827 2,532,329 A 133,502
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s 1,401,316
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< 759,217
[ia 885,341
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O sat=XY DEstn 24l K&
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& 252,240
= 378,361
OE0M SAHAY 341,000 341,000 0
< 98,000
= 243,000
308 XX EHSOIA 341,000 341,000 0
== 98,000
= 243,000
08 W=sJl&otistE = 341,000 341,000 0
O DEsW OS5 EHAMY 264,000
= 75,000
= 189,000
O =& OS5 S4AMS 77,000
< 23,000
= 54,000
=8 DXH 130,000 127,130 2,870
= 39,000
= 91,000
308 XAHXIEHSOIA 130,000 127,130 2,870
= 39,000
= 91,000
08 W=EJl&otistE = 130,000 127,130 2,870
O JISAHSAH) K2 130,000
< 39,000
= 91,000
NES N KNEANA 45,000 65,000 A 20,000
308 XAHXIEH SO0l & 45,000 65,000 A 20,000
08 W=EJl&otistE = 45,000 65,000 A 20,000
O SuMSAEXNI(SEANSSE 224|) 20,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 7,880 7,880 0
O SugAXFdH s&tE RSEJH A&
61,060 «=3=33|%43.015%F 7,880
< 2,364
e 5,516
308 XX EHHSOIA 215,389 225,690 A 10,301
< 98,930
s 116,459
08 WEIIA0HStE X 215,389 225,690 A 10,301
O destdsps(Hxg) stusa X 210,229
< 98,930
s 111,299
O SIS S(HELE) LRI SAXH
2453 »117H 1802 5,160
MEgstnad 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
02 HAFHAANHEEX 15,000 15,000 0
O 1N&EZ Menst Da2d 15,000
PNRS-REIDN R DN R 1,685,627 1,134,867 550,760
< 15,500
= 1,670,127
ZETHE XI& A 2,180 2,400 A 220
202 odl 2,180 2,400 A 220
01 = LH 4 1l 2,180 2,400 A 220
O ®&tx 2% A2EX ol 2,180
SZEXHE idHx XA 76,100 76,300 A 200
202 O4dl 2,100 2,300 A 200
01 = LH 4 Hi 2,100 2,300 A 200
O 2248 ME dixdds FRFA 2,100
306 £ 3 74,000 74,000 0
01 &3 74,000 74,000 0
O d=NsdME =d=
148,000, 000& *50% 74,000
SEEHIE Y sUHE A=W 387,795 407,172 A19,377
202 Oddl 2,275 500 1,775
01 = LH 4 1 2,275 500 1,775
O 258 DS L YIS 31 S DIAUA 0
]l 2,275
308 XX EHSOIA 385,520 406,672 N21,152
08 WSII20HetE = 385,520 406,672 N21,152
O &= s 2 FUAT MESFXNE WX
# 325,520
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N X HOITHALS
chel: X oMYA X & CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O EQ Oisstn Z2)d 29X4 30,000
O gil= Dsstn 29X 30,000
A 2 SH2 fs SAIH 319,552 348,595 N 29,043
308 XX SHHSOIH 319,552 348,595 A 29,043
08 W=sJl&otistE = 319,552 348,595 N 29,043
O D doNHestsdy X3 96,000
O &od ZZHoMsd I 223,552
HM=2O ¥ RAHAY 141,000 158,000 A 17,000
=} 15,000
= 126,000
308 MXISHMSOIA 141,000 158,000 A 17,000
< 15,000
= 126,000
08 I 20HstE = 141,000 158,000 A 17,000
O A=Y sHAY 141,000
& 15,000
= 126,000
Ao MME2S KA 125,000 105,000 20,000
308 XAHXIEH SO A 125,000 105,000 20,000
08 W=EJl&otistE = 125,000 105,000 20,000
O ==t Jx=4gual 5,000
O XNY9olll s42 /st Ay - s&8200az7)
3249 10,000
O DNEZNZHEXNJIMEHSIX S 30,000
O sHEURER Z2EZ2 S0t 29 80,000
CHSHASETIZE Ol AFKI & A 1,000 1,000 0
& 500
= 500
301 et A= 1,000 1,000 0
== 500
= 500
02 &et=2dsx=2 1,000 1,000 0
O e stXt2 0l KF XA 1,000
o=} 500
= 500
X -Z-10Ss8M 51 N 633,000 36,400 596,600
301 et A =2 633,000 36,400 596,600
01 Al B & A 46 2 633,000 36,400 596,600
O xSs It A X 100, 000& »330H 33,000
O etxst =512 A 1,000,000 600 600,000
DMESSHM 25 619,800 619,800 0
M= 2N 619,800 619,800 0




SN s
Ha: HMSSHE 75
e WM 29X e ®H)
- _ _ RE]
M B () - HSAY - BES %Eﬁ HR=2
1 RIE2dY 619,800 619,800 0
= 619,800 619,800 0
= 619,800 619,800 0
AMOSH) EH 2 619,800
= o 5,000 5,000 0]
o 5,000 5,000 0
5,000 5,000 0
| & 5,000 5,000 0
SHAFAFE B X 5,000 5,000 0
SHo| AKX 5,000
S =R PSSy ,639,790 14,569,489 70,301
,512,500 14,450,469 62,031
=) ,436,064 14,363,541 72,523
| ,262,481 1,905,489 356,992
642,304 593,991 48,313
22 HUEZ (62 2080|=)
3,825,394 & x8H 40l & *50% 612,064
JHSHBRY J1B GRS
2,100,000& =1.8 «8H 30,240
HE2Z2 X E = 1,620,177 1,311,498 308,679
Sx 22RO K X3
400,000, 000& 400,000
O olga 2432 11,465,860, 000 x4 .5% 515,964
O DIAUBESEESEZ
11,465,860,000& x3.335% 382,387
O Loileassd 382,387 ,000& *8.51% 32,542
O N8y 2¢2 11,465,860,0002 *1.65% 189,187
O AMEgEERE"E2 11,465,860,000& x0.873% 100,097
303 A2 427 575 2,390,991 36,584
02 Stat(H 2 , 427 ,575 2,390,991 36,584
O Bt & 2,091,120,078& x110% ,300,233
O Et& 115,764,930 *110% 127,342
04 HA=zd=2S , 746,008 10,067,061 A 321,053
(ISR , 704,852 8,289, 153 A 584,301
O 22 d=22==2 54,857,538,000& *9.0% ,937,179
O 2RY H322d823
54,857,538,000& *1.635% 896,921
O 2298 Sx4+g 293
54,857 ,538,000& *3.2192% 1,765,974
zoE N2y 23
54,857,538,000& *0.191% 104,778
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Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
02 2UAL I 2,041,156 1,777,908 263,248
O TR AYLHRHI
54,857,538, 000 *3.335% 1,829,499
O o) euxsd 1,829,499,000& *8.51% 155,691
O 1s8g 8¢42 (LI, Z2ad3g)
3,391,854,896& x1.65% 55,966
AMAUAZY IRl 2] 76,436 86,928 N 10,492
101 21 214| 76,436 86,928 N 10,492
02 JIEtE 2 % 76,436 86,928 AN 10,492
O AR50 2AH| 1,592,400 *80%* 10 x6& 76,436
Jl23ddl 127,290 119,020 8,270
2N Il 127,290 119,020 8,270
201 2et2 Y| 12,700 14,160 A1,460
01 AP 2t 2] H| 12,700 14,160 A 1,460
O BAII2 2494 12,700
203 SR F & 114,590 104,860 9,730
01 JI22HEYFFAH| 53,720 53,720 0
O 2% 4 476,666 x12& 53,720
02 RIIAH 2 F=AH| 54,930 45,200 9,730
O &3
(80,000 *100)+(60, 000 *300 )+(45,000& 31,220
*1169)
O 23 ARt 80,000 21X 1,680
O BHA (40,000 1009 )+(30,000& *13H) 4,390
O =sY9)|=4dH 40,000 71X 2,840
O MEEAEAIEA 40,000& x52H 2,080
O &dotx=EAgA 40,000 »24H 960
O sHANEANDA 40,000 *37H 1,480
O SHAIRA 40,000& »257H 10,280
04 BN AR =T 5,940 5,940 0
S VLT LR
(400,000 +(5,0002 x19H ) ) =128 5,940




